
 SPECIAL TEST of Missing Series + Venn Diagram + Clock By Alok Sir G.C.

1. 5, 8, 13, 21, 34, ?
(a) 40 (b) 45 (c) 50 (d) 55

2. 325, 17, 478, 39, 923, ?
(a) 29 (b) 30 (c) 28 (d) 40

3. Find that out to uncover the missing number ?

(a) 29 (b) 30 (c) 31 (d) 32
(e) None of these

4. If 2 + 3 = 8  5 + 8 = 60
4 + 5 = 32   3 +7 = 27   6 +7 =72
7 + 8 = ?
(a) 98 (b) 99 (c) 100 (d) None

5. Complete the series: 16, 06 , 68 , 88 , ? , 98
(a) L8 (b) L9 (c) L10 (d) L11
(e) none of these

In each of the following questions, various terms of an alphabet series
are given with one or more terms missing as shown by (?). Choose the
missing terms out of the given alternatives.

6.  A, B, B, D, C, F, D; H, E, ?, ?
(a) E, F (b) F,G (c) F, I (d) J,F(e) J,K

7. Z, X, S, I, R, R, ?, ?
(a) G,I (b) J,I (c) J,K (d) K,M

8. AYBZC, DWEXF, GUHVI, JSKTL, ?
(a) MQORN (b) MQNRO
(c) NQMOR (d) QMONR

9. T, R, P, N, L, ?, ?
(a) J,G (b) J,H (c) K,H (d) K,I

10. PMT, OOS, NQR, MSQ, ?
(a) LUP (b) LVP (c) LVR (d) LWP

11. A, B, N, C, D, O, E, F, P, ?, ?, ?
(a) G,H,I (b) G,H,J (c) G,H,Q (c) J,K, L

12. GH, JL, NQ, SW, YD, ?
(a) EJ (b) FJ (c) EL (d) FL

13. R, U, X, A, D, ?
(a) F (b) G (c) H (d) I

14. AYD, BVF, DRH, ?, KGL
(a) FMI (b) GMJ (c) GLJ (d) HLK

15. AZ, CX, FU, ?
(a) IR (b) IV (c) JQ (d) KP

Direction (16-21) : In each of the following question, three groups of
objects are given. You have to find the diagram which correctly
representes all the three category of groups.
efveoxMe - veerÛes ØelÙeskeâ ØeMve ceW leerve Øekeâej keâer JemlegDeeW kesâ mecetn efoÙes ieÙes
nQ~ Deehekeâes veerÛes efoÙes ieÙes ›eâceebefkeâkeâ DeejsKeeW ceW mes Gme Skeâ DeejsKe keâes
%eele keâjves nw, peesefkeâ ØeMve ceW efoÙes ieÙes leerveeW JeieeX kesâ mecetn kesâ mecyevOe keâes
mener ™he mes efve™efhele keâjlee nw~

16. Science, Physics, Chemistry/efJe%eeve, Yeeweflekeâer, jmeeÙeve
MeeŒe

17. Doctor, Male, Artist/[e@keäšj, heg™<e, keâueekeâej
18. Organism, Human, Planet/peerJe, ceveg<Ùe, «en
19. Gold, Ornament, Silver/meesvee, ienvee, ÛeeBoer
20. Body, Hand, Finger/Mejerj/neLe/Debiegueer
21. Which of the following figures depicts relation

between the building material, cement and
wood?
efvecveefueefKele ceW mes keâewve-meer Deeke=âefle YeJeve efvecee&Ce meece«eer,
meercesvš Deewj ueÌ[keâer keâe mecyevOe oMee&leer nw?

22. Find the correct option form the given options :
Which picture best depicts relation between
Jalebi, Sweets and Edible goods?
veerÛes efoÙes ieS efJekeâuheeW ceW mener efJekeâuhe Ûegves-
keâewve-mee efÛe$e peuesyeer, efce"eF& SJeb Keeves ÙeesiÙe JemlegDeeW keâe ØeoMe&ve
meJeexòece ™he mes keâjlee nw?

23. Find the diagram from the given options which
correctly depicts relation between Shark,
Whale and Turtle?
efoS ieS efJekeâuheeW ceW mes Jen DeejsKe ÛegefveS pees Meeke&â, Jnsue Deewj
mecegõer keâÚgDeeW kesâ yeerÛe mebyebOe keâe mener efve™heCe keâjlee nw?
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24. Which of the following figures depicts relation
between
veerÛes Ûeej Deeke=âefleÙeeW ceW mes keâewve-meer Deeke=âefle
(a) Sparrows (b) Birds
(c) Mice

25. In the diagram the number of those candidates
is given who passed in Chemistry, Electronics
and English, Total number of candidats who
appeared for the examination was 600. Find the
percentage of candidates who passed in at least
two subjects?
DeejsKe ceW Gve hejer#eeefLe&ÙeeW keâer mebKÙee oer ieÙeer nw, pees efJeefYeVe
hejer#eeDeeW ceW jmeeÙeve efJe%eeve, Fueskeäš^e@efvekeâer leLee De«espeer ceW
DevegòeerCe& jns, hejer#ee ceW yew"ves JeeueeW keâer kegâue mebKÙee 600 Leer~ Gve
hejer#eeefLe&ÙeeW keâe ØeefleMele keäÙee nw, pees keâce-mes-keâce oes efJe<eÙeeW ceW
DevegòeerCe& ngS?

(a) 12.5 (b) 1.25 (c) 12.05 (d) 12

26. What will be the angle between hrs an minute
hands at 11 O’clock?
11 yepes IeCšs leLee efceveš keâer megF& kesâ yeerÛe keâe keâesCe efkeâlevee nesiee?
(a) 15° (b) 221

2
(c) 30 (d) 36

(e) none of these

27. If a clock shows 10 hrs 10 min, then in this case
what will be the angle between hrs and min
hands?
Ùeefo efkeâmeer IeÌ[er ceW 10 yepekeâj 10 efceveš nes jns nw, lees Fme efmLeefle ceW
IeCšs Deewj efceveš keâer megF& kesâ keâesCe kesâ yeerÛe kesâ keâesCe keâe ceeve keäÙee
nesiee?
(a) 180 (b) 190 (c) 110° (d) 185
(d) None of these

28. What will be the angle between the hrs and min
hand at 4 hrs 25 min

4 yepekeâj 25 efceveš hej IeCšs leLee efceveš keâer megF& kesâ yeerÛe keâe keâesCe
efkeâlevee nesiee?
(a) 16 1

2
(b) 181

2
(c) 17 1

2
(d) 151

2
(e) none of these

29. If in a clock the time is 9 hrs 15 min, then the
measure of angle between the hrs and min hand
will be :
Ùeefo efkeâmeer IeÌ[er ceW 9 yepekeâj 15 efceveš nes jns nw, lees Fme efmLeefle ceW
IeCšs Deewj efceveš keâer megF& kesâ yeerÛe kesâ keâesCe keâer ceehe keäÙee nesieer?
(a) 187 1

2
(b) 1621

2
(c) 1721

2
(d) 167 1

2
(e) none of these

30. If the mirror reflection shows time as 9 hrs 45
min, then what will be the actual time?
Ùeefo ohe&Ce Øeefleefyecye ceW meceÙe 9 yepekeâj 45 efceveš Øeleerle nes jne
nes, lees Fme efmLeefle ceW JeemleefJekeâ meceÙe keäÙee nesiee?
(a) 3 : 15 (b) 4 : 15 (c) 2 : 45 (d) 2 : 15
(e) none of these

31. If the water reflection shows time as 6 hrs 10
min then the actual time will be :
Ùeefo peue Øeefleefyeefcyele meceÙe 6 yepekeâj 10 efceveš nes jne nes, lees Fme
efmLeefle ceW JeemleefJekeâ meceÙe keäÙee nesiee?
(a) 6 : 50 (b) 12 : 40 (c) 12 : 20 (d) 6 : 10
(e) none of these

32. If the clock on a railway station is 3 min slow on
tuesday at 5 p.m. It becomes 5 minutes fast on
Wednesday at 11 p.m. Find out when would it
have shown the correct time?
efkeâmeer jsueJes mšsMeve keâer IeÌ[er cebieueJeej Meece kesâ 5 yepes 3 efceveš heerÚs
Leer Deewj Jen yegOeJeej jele keâes 11 yepes efceveš lespe nes peeleer nw, %eele
keâerefpeS efkeâ Gmeves mener meceÙe keâye efoKeeÙee?
(a) Wednesday morning 4 : 15
(b) Wednesday morning 7 : 30
(c) Tuesday evening 3 : 45
(d) Tuesday evening 5 : 00
(e) none of these

33. How many times the hands of the clock meet in a
day?
Skeâ efove ceW IeÌ[er keâer oesveeW megFÙeeB Skeâ meeLe efkeâleveer yeej efceuesieer?
(a) 22 (b) 21 (c) 2 (d) 24
(e) none of these
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Answer key
1. (c) 2. (a)  3. (a) 4. (a) 5. (a) 6. (d) 7. (a)  8. (b) 9. (b) 10. (a)

11. (c) 12. (d) 13. (b) 14. (b)  15. (c)  16. (a)  17. (d)  18. (b)  19. (d)  20. (c)
 21. (b)  22. (c)  23. (c) 24. (b) 25. (a)  26. (a) 27. (e)  28. (c)  29. (a)  30. (d)
 31. (c)  32. (a)  33. (a)

 HINT & SOLUTIONS

3. If you look closely, you will find that the center
number can be obtained by multiplying the
largest numbers on the corners and subtracting
the smallest number from it.
26 = 7 * 5 – 3^2
In the same manner, every other figure follows. Thus

the missing number:
9 * 5 – 4^2
= 45 – 16
= 29

4. 98.
Explanation : ab + a(a-1)
7 * 8 + 7(7 – 1)
= 56 + 42

5. L8
Explanation:
To know why, just read the number series upside down

and you will find that the numbers are 91, 90, 89, 88, __, 86
So L8 when read upside down reads as 87.

6. The given sequence is a combination of two
series :
I. 1st, 3rd, 5th, 7th, 9th, 11th terms i.e. A, B, C, D, E, ? II.
2nd, 4th, 6th, 8th, 10th terms i.e. B, D, F, H, ?
Clearly, I consists of consecutive letters while II

consists of alternate letters. So, the missing letter in I is F,
while that in II is J. So, the missing terms i.e. 10th and 11th
terms are J and F respectively.

7.

Note that the numbers representing the difference
between the consecutive terms of the series again
from a series - 2, 5, 10, 17, 26, 37, 50 - in which the
pattern is +3, +5, +7, +9, +11, +13.

8.

9. Explanation:

10.

11. The given series may be divided into 2 groups :
I. A, B, C, D, E, F, ?, ? and II. N, O, P, ?
Clearly, the given series consists of two terms of I

followed by one term of II.
The missing terms in I are G and H while the missing

term in II is Q.

12.

13.

14.

15.

16.
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17.

18.

19.

20.

21. Cement and wood both belong to building
material but are different form each other.

22.

23. Clearly, all three belong to different categories
24.

25. Number of those students who passed in at least
two subjects

15 28 22 10 75
Hence, percentage of those students

75
600

100 12 5. %

26. At 11 O' clock, the angle between the hands of
the clock ( ) .12 11 30 30

27. As per question,

H 10 10,M

30
11
2

H M~

30 10 11
2

10~

300 55 345~
or 360 245 115
Hence, required angle is either 245° or 115°.

28. As per question,
H 4 25, M

As per formula, 30 11
2

H M~

30 4 11
2

25~

120 137 5~ .

17 5.  or 17 1
2

Hence, 17 1
2

 is the required answer.

29. As per question H M9 15,

As per formula, 30 H M~ 11
2

30 9 11
2

15~

270 82 5~ .

187 5.  or 187 1
2

Hence, 187 1
2

 is the required answer.

30. Time in mirror reflection 9 45:
Then, actual time 11 60 9 45 2 15: : :
Hence, option (d) is the right angle.

31. Time in water reflection 6 10:
Hence, option (c) is the required answer

33. The hands of a clock will be together 22 times
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